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Topic 1, Volume A

QUESTION NO: 1

Which implementation of distributed content architecture provides for both content and metadata
to be synchronized across multiple repositories?

A. object replication

B. Site Caching Services
C. federated repositories

D. distributed storage areas

Answer: A
Explanation:

QUESTION NO: 2

Which statement about the Documentum enterprise content management platform is true?

A. Content files are stored within a relational database by default.

B. Fetching a document based on its r_object_id will return all versions of the document.
C. Each object must have at least one content file.

D. A document can be linked to multiple folders.

Answer: D
Explanation:

QUESTION NO: 3

Which software service enables the automated movement of content between tiers of storage?

A. Library Services

B. Federated Services

C. Content Storage Services

D. Application Integration Services

Answer: C
Explanation:
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QUESTION NO: 4

Which architecture improves content upload and download performance in a single-repository
distributed environment?

A. object replication

B. Site Caching Services

C. Branch Office Caching Services
D. a federation

Answer: C
Explanation:

QUESTION NO: 5

When using a browser, which components are required for accessing Documentum objects in a
repository?

A. Index Server, Content Server

B. Application Server, Index Server

C. Application Server, Content Server

D. Transformation Server, Content Server

Answer: C
Explanation:

QUESTION NO: 6

A company wants to manage all content assets in an enterprise.

Which architectural characteristic provides this in the Documentum solution?
A. common repository

B. relational database

C. Application Integration Services
D. Content Transformation Services

Answer: A
Explanation:
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QUESTION NO: 7

Which restrictions are placed on content file formats stored in the Documentum repository?

A. must be Microsoft Office formats

B. must be Microsoft Office formats or PDF

C. no restrictions - any format is supported

D. must install special software for some formats

Answer: C
Explanation:

QUESTION NO: 8

A user’s department needs to make a major change to a survey document that the user stored in
the repository. Which actions should the user take to replace the existing survey document with a
new file?

A. Check Out and Import

B. Check Out and Save As

C. Check Out and Check In

D. Check Out and Check In From File

Answer: D
Explanation:

QUESTION NO: 9

Which product allows a user to interact with the repository in the same way that a user can interact
with a Windows network drive?

A. Import Manager

B. My Documentum for Desktop
C. Process Integrator

D. FTP Services

Answer: B
Explanation:
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QUESTION NO: 10

When checking in a document through Webtop, which option can be set?

A. Change permissions

B. Specify folder location

C. Change document type

D. Subscribe to the document

Answer: D
Explanation:

QUESTION NO: 11

After a user imports a file from their Windows desktop into a Documentum repository, where does
the content file reside?

A. in Webtop

B. on the user's local file system and in the database

C. in the repository, but not on the user's local file system

D. on the repository's file store and on the user’s local file system

Answer: D
Explanation:

QUESTION NO: 12
A folder structure has a top-level folder, sub-folder, and files.

Which content is included when using the Import function under Webtop's File menu to import the
top level folder?

A. only the files

B. only the files and metadata

C. the top level folder, files, and metadata
D. the top level folder, sub-folder, and files
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Answer: D
Explanation:

QUESTION NO: 13
A document is checked out from Webtop and edited in the native desktop authoring application.

Which statement is true about the check-in of the file to add a new version?

A. It must be checked in via Webtop.

B. Any combination of Webtop and the authoring integrations will work.

C. A check-in through the native authoring application will create a new rendition.

D. The native authoring application integrations can be used to check-in the document.

Answer: A
Explanation:

QUESTION NO: 14

What happens to the rendition of an object when the object is checked in using Webtop as the
same version, using a new file?

A. All renditions are deleted from the version.

B. Only the first rendition is attached with the version.

C. All renditions are attached with the version.

D. Document owner has to open the permission for other users to view it.

Answer: A
Explanation:

QUESTION NO: 15

When a document with renditions is versioned using Webtop, which statement is true?

A. All renditions of all previous versions are pruned.

B. PDF renditions are carried forward, others are not.

C. Renditions are not carried over to the new version.

D. Renditions of the previous version are carried forward to the new version.
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Answer: C
Explanation:

QUESTION NO: 16

Which statement is true for checking in multiple documents to a repository with Webtop?

A. Multiple documents with the same object name cannot be checked in to a repository.

B. Multiple documents with the same object name cannot be checked in to a repository if they are
in the same folder.

C. Multiple documents with the same object name cannot be checked in to a repository if they
have the same content format.

D. Multiple documents with the same object name can be checked in to a repository.

Answer: D
Explanation:

QUESTION NO: 17

What is the minimum permission required for adding a rendition?
A. RELATE

B. VERSION

C. WRITE
D. DELETE

Answer: B
Explanation:

QUESTION NO: 18

Refer to the exhibit.
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A user is editing version "1.2.1.1" of a branched object.

According to the version tree shown, what will be the version label if the user checks in the object
as a new major version?

A.121.2
B.1.2.2.0
C.15
D.2.0

Answer: D
Explanation:

QUESTION NO: 19

When is a branch version created?

A. when creating a new object in the repository

B. when making changes to an older version of an object in the repository

C. when making major changes to the highest numbered version of an object in the repository
D. when making minor changes to the highest numbered version of an object in the repository

Answer: B
Explanation:
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QUESTION NO: 20

During Check In, a user manually applies the symbolic version label APPROVED to the document.
When subsequently creating another version, the user again applies the symbolic version label
APPROVED. Which statement is true?

A. The new and old versions both carry the symbolic version label APPROVED.

B. The APPROVED label is transferred from the old version to the new version.

C. The Check In fails because APPROVED is already applied to an existing version.
D. The new version receives the symbolic version label APPROVEDL.

Answer: B
Explanation:

QUESTION NO: 21

Which statement is true regarding Branch Versions?

A. Branch Versions allow users to revise any version of a document, not just the CURRENT
version, if they have appropriate permissions.

B. Branch Versions may only be created by the document owner.

C. Branch Versions of a document all share the same ACL.

D. Branch Versions allow many versions of a document to be the CURRENT version.

Answer: A
Explanation:

QUESTION NO: 22

Which statement is true regarding renditions?

A. A document may have more than one rendition with the same file format.

B. Renditions may only be added by Documentum Transformation Services (DTS).

C. Different renditions of the same document's content can have different ACLs applied to them.
D. Different renditions of the same document's content can appear in different folders in the
repository.

Answer: A
Explanation:
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QUESTION NO: 23

Refer to the exhibit.

1.0
I
1.1
I
132 1.2:1:0
I I
hid R |
I
1.4

According to the version tree, which version number represents the first node of the branch?

A.1.0
B.1.2
C.1.210
D.1.211

Answer: C
Explanation:

QUESTION NO: 24

Which situation could cause a Check Out to fail using Webtop?

A. The user does not own the document.

B. The document is locked by another user.

C. The user has only VERSION permission on the document.

D. The document does not have CHANGE STATE extended permission.

Answer: B
Explanation:
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